
Самостоятельная работа 
«Логарифмы. Логарифмические  

уравнения и неравенства» 
Вариант 1 

1. Вычислите: 

а) 2୪୭୥మ ଺ିଷ                 б) 3ଶ ୪୭୥య ଺              в) ୪୭୥ఱ √଻
୪୭୥ఱ ଻

. 

2. Найдите log௔
௔
௕య

, если log௔ ܾ = 5. 
3. Решите уравнение: 
а) logଷଶݔ − 2 logଷ ݔ = 3 
б) lg(ݔ + 1,5) = −lgݔ. 
 

4. Решите неравенство: 
а) logభ

ర
ݔ2) − 5) > −1 

б) logହା௫(1 − (ݔ2 ≥ logହା௫ 3 + logହା௫ ଶݔ . 
 

5. Решите неравенство: 
logଷ ݔ

logଷ
ݔ
27

≥
2

logଷ ݔ
+

5
logଷଶݔ − logଷ ଷݔ

 

 
 
 

Самостоятельная работа 
«Логарифмы. Логарифмические  

уравнения и неравенства» 
Вариант 2 

1. Вычислите: 

а) 2୪୭୥మ ଷାଵ             б) 7ିଶ ୪୭୥ళ ଶ            в) ൫3୪୭୥మ ଷ൯
୪୭୥య ଶ. 

 

2. Найдите log௔
௔ల

௕ర
, если log௔ ܾ = −2. 

 

3. Решите уравнение: 
а) log଻(ݔଶ − 9) − log଻(9 − (ݔ2 = 1 
б) 4 − lgଶݔ = 3lgݔ. 
 

4. Решите неравенство: 
а) logభ

య
(2 − (ݔ3 < −2 

б) logଷା௫ 3 + logଷା௫ ଶݔ ≤ logଷା௫(ݔ + 4). 
 
5. Решите неравенство: 
logସ ݔ

logସ
ݔ
64

≥
4

logସ ݔ
+

8
logସଶݔ − logସ ଷݔ

 

 


